Relativistic Gravitational red shifts are: Projected light aberrations measurements:

The case of Harvard Pound Rebka confusion of an experiment  

By Professor Joe Nahhas

Abstract: Light aberrations visual effects appear as gravitational red-shifts as follows:

A signal emitted will be received by a receiver located at a distance r as deflected by an angle ω(r) T = arc tan (v/c) or light aberrations angle. In practice an object emitting a signal located at a distance r it would be measured by a receivers as an object emitting from a location S caused by light visual effects where:

S = r Exp [ỉ ω t]

Or λ (S) = λ (r) Exp [ỉ ω t] 

Measurements are defined at t = T; ω T = arc tan (v/c)

With sine ω T= sine arc tan (v/c); cosine arc tan ω(r) T = √ {1-[sine arc tan (v/c)] ²}

And with v << c; then ω(r) T= arc tan v/c ≈ v/c

Then sine ω T = sine arc tan v/c ≈ v/c; 

And cosine ω T = cosine arc tan v/c = √ [1- sine ² arc tan (v/c)] = √ [1-(v/c) ²] 

Or λ (S) = λ (r) {√ [1-(v/c) ²] + ỉ (v/c)} = Real λ (S) + Imaginary λ (S)

Projected or Real λ (S) = λ (r) √ [1-(v/c) ²] ≈ λ (r) [1 - 1/2(v/c) ²]

Δ λ = real λ (S) - λ (r)  

Δ λ = λ (r) √ [1-(v/c) ²] - λ (r)  

Δ λ = - λ (r) (v/c) ²]

Δ λ = - λ (r) (v/c) ² /2 Up

Δ λ (total)/ λ (r) = -1/2(v/c)²[up]-{1/2(v/c)²[down]} = - (v/c) ²

Δ λ / λ = - (v/c) ²

v² = 2gh; g = 9.81km²/s² gravitational acceleration; h = height; h =22.5meters 

Δ υ/υ [Total] = -Δ λ / λ = + (v/c) ² = [2gh/c²]  

Δ υ/υ = 4.93x10^-15 

This experiment is the third proof of general relativity theory and is a measurement of visual effects of projected light aberration along the line of sight and the claim of Modern Harvard Physicists that it is a proof of Einstein's Relativistic gravitational four-dimensional space - time confusions of  physics is wrong.     
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